208

DVP1000-3000-4000 Al2|=

5XE mfUSIEIY 0f0] 2u{[0|E HE

[ IR

- 3y

- Wear Ring &t — Spool # 012 X

- U Packing A2 — O}&I S £| A3}

- 23| Al Piston Return 244! z{EH
oUis8Y

- REHHA SI10|E S3 AMOI= thy| 2254 71
® H|E2| CIy

- SH 7L A 712 Type

- gHHi7 |7 7|2 ALY

- Fitting LI ZPAIR 20| (IRl 2Hd)

(1] DVP VALVE Series HY 2+ Al
1:DVP1000 Serigs (10mm) 20 : 21 v 2

3:DVP3000 Series (15mm) 40 : H|O] A HH 2
4 :DVP4000 Series (18mm)
2t S

X5} HiAl * SUB PLATE 2tAR (H]0| & HiZHE O H )
£7|% :Sub Plate §1&
SINGLE M5 : M5X0.8 (DVP1000 Series)
1 A 01 : Re(PT)1/8 (DVP3000 Series)
....... ml zl] 02 : Re(PT)1/4 (DVP4000 Series)
RL R2
DOUBLE * FITTING LEZAtS] A(RFH 2ot el )
2 = e X & Series
"""" | -R\ I T | 2712 FITTING LHZ T Series
T4 @4 AE{X| Fitting )
6 26 SIEIA Fitting DVP1000 Series
3 T4 @4 YE{ | Fitting
6 @6 YE{ | Fitting DVP3000 Series
T8 @8 RE | Fitting
T8 @8 EHX| Fitting )
. T10 @10 IE{A] Fitiing DVPA4000 Seres
5




5ZE njziete ofo] 2mjzjole we DVP1000-3000-4000 Al2[=

S TvV2
Tl
W Fitting L ZFAKRS Port Plug Assy (EHE2| Z2) SAl FA| Hi TV2WFI
(1) 000 (T4) -
- FSW
2 .
DR100
) DR200
(1] DVP VALVE Series [2] ZIEHy e & |ZRET
1 DVP1000 Series (REH 20| 29) — e Py RS1000
31 DVP3000 Series (XEH 0| 22) =2 J S RISASCIICE RS2000
. . o] Ao SIE{ ] Fitti e —
4 DVPA000 Series (REIH{ZE 2| H2) T4 24 *’_" Ff“fng DVP1000 Series RS4000
T6 @6 FEA| Fitting RS4R
T4 @4 YE{ R Fitting e
T6 @6 YEIA] Fitiing DVP3000 Series SIUNIT
T8 @8 YE | Fitting TRDVI00
T8 @8 LB Fitti RDV300
17(_' fino DVP4000 Series LRDV400
T10 @10 B A Fitting ——
DVC1000
B HLISE A JA| 4 DV OiLIEE 28) (bvioos
DV3000
™ P20 (05 o
DVUM1000
DVUMA000
DVP1000
DVP3000
DVP4000
(1] DVP VALVE Series HY 2 Al sgggggu
1 : DVP1000 Series: Manifold (DVP1000 Series &8) 20 : ZHI Y RDS5000
3 : DVP3000 Series& Manifold (DVP3000 Series S&) 40 : H|O| A Hf 2 r—
4 : DVP4000 Series& Manifold (DVP4000 Series &) RDSN3000
3] 4= (2~209H) Mo
N DS2000
DS6000
DX1
DX2
0{l0{ 2u{2{|0|E WE A}2F DX1R
DX2R
T = DVP1000 - DVP3000 - DVP4000 TVH
A= Al 5 Port Pilot Type Air Operate Valve ——
EEYY z 7l TFYM
22| | Single 0.15~0.7 (1.5~7.1) DP300
DP3000
AL = 2| MPa (kgf/er) 22| x| Double 0.1~0.7 (1.0~7.1) (DP5000
3 Position 0.2~0.7 (2.0~7.1) DM
22| | Single (0.7 x AHEA=+0.1)~0.7 —
Il 02 #Q MPa (kgf/er) 29| Double 0.15~0.7 (1.0~7.1) DT220
3 Position 0.2~0.7 (2.0~7.1) —
~ DQE
BN SN Non Lock Push Type
Pilot Hi 7| B4l e uiord L
28z 238
F & AEY N —
WEZ /A S o 150/30(8.3~2000Hz) X350
BEsHx Iy
S& 9HN mm2 ( CvAl) DVP SEEHHE (EX p. 204)
oS HE 7 M5 x 0.8
209

www. TPCpage.co.kr



210

DVP1000-3000-4000 Aj2|=
DVP 1000 - 3000 - 4000 REEHHA

" e E 77 mAHRELE /E OHA S2¢ (2 /min)
g% 74 mm2 ( CvA|)

= DVP1120 o5l Single Air Operate M5X0.8 M5X0.8 3.6 (0.2) 245
= DVP1220 Double Air Operate M5X0.8 M5X0.8 3.6 (0.2) 245
D Hi DVP1320 Closed center M5X0.8 M5X0.8 3.3(0.18) 224
v e DVP1420 32| Exhaust center M5X0.8 M5X0.8 3.3(0.18) 224
P E DVP1520 Pressure center M5X0.8 M5X0.8 3.6 (0.2) 245
:) DVP1140 _— Single Air Operate Rc(PT)1/8 M5X0.8 4.0(0.22) 272
o | MO= 1 pvpiado Double Air Operate | Rc(PT)1/8 M5X0.8 4.0(0.22) 272
0 :i DVP1340 Closed center Rc(PT)1/8 M5X0.8 3.6(0.2) 245
5 DVP1440 32| Exhaust center Rc(PT)1/8 M5X0.8 3.6(0.2) 245
DVP1540 Pressure center Rc(PT)1/8 M5X0.8 3.8(0.21) 258
= DVP3120 - Single Air Operate Rc(PT)1/8 M5X0.8 9.0(0.5) 612
= DVP3220 Double Air Operate Rc(PT)1/8 M5X0.8 9.0(0.5) 612
D | DVP3320 Closed center Rc(PT)1/8 M5X0.8 7.2(0.4) 489
v o DVP3420 391 Exhaust center Re(PT)1/8 M5X0.8 7.2(0.4) 489
P = DVP3520 Pressure center Rc(PT)1/8 M5X0.8 9.5 (0.53) 645
2 DVP3140 o Single Air Operate Rc(PT)1/4 M5X0.8 9.5(0.53) 645
o | MO= 1 pypado Double Air Operate | Rc(PT)1/4 M5X0.8 9.5 (0.53) 645
0 :i: DVP3340 Closed center Rc(PT)1/4 M5X0.8 7.2(0.4) 489
= DVP3440 39X Exhaust center Rc(PT)1/4 M5X0.8 7.2(0.4) 489
DVP3540 Pressure center Rc(PT)1/4 M5X0.8 10.0 (0.55) 680
= DVP4120 —_ Single Air Operate Rc(PT)1/4 M5X0.8 16.2 (0.90) 1100
A DVP4220 Double Air Operate Rc(PT)1/4 M5X0.8 16.2 (0.90) 1100
D HH DVP4320 Closed center Rc(PT)1/4 M5X0.8 10.8 (0.60) 734
v = DVP4420 3% Exhaust center Rc(PT)1/4 M5X0.8 10.8 (0.60) 734
P E DVP4520 Pressure center Rc(PT)1/4 M5X0.8 17.1 (0.95) 1162
g DVP4140 ol Single Air Operate Rc(PT)3/8 M5X0.8 16.2 (0.90) 1100
o | M= pypazao Double Air Operate Rc(PT)3/8 M5X0.8 16.2 (0.90) 1100
0 ;1 DVP4340 Closed center Rc(PT)3/8 M5X0.8 10.8 (0.60) 734
5 DVP4440 3R Exhaust center Rc(PT)3/8 M5X0.8 10.8 (0.60) 734
DVP4540 Pressure center Rc(PT)3/8 M5X0.8 17.1 (0.95) 1162




5ZE njziete ofo] 2mjzjole we DVP1000-3000-4000 Al2[=

4-@4.5, THRU

DVP1000 ## Hi2Fs! Dimensions

L

L2

P=10.5 19
T
|

17

v

16

QeI

Van

edl d
D

ooLlel

o
AN

JL\J 7

I

i

6-Rc(PT)1 8

s

A
A\ AN

16.5

48.5

47

TV2

TV2WFI

TV2WC

FSW

DR100

DR200

RS1000

RS2000

RS4000
RS4R

SIUNIT

RDV100

RDV300
RDV400

Dvc1000

DV1000
DV3000
DV4000

DVUM1000
DVUM3000
DVUM4000

DVP1000
DVP3000
DVP4000

RDS300

RDS3000
RDS5000

RDSN3000

|
5

DVP1000 Series =& H|2F=2 Manifold %1%

| 2 3 4 5 6 7 8 9
L1 | 485 | 59 | 695 | 80 | 90.5 | 101 | 11.5 | 122
L2 | 305 4 | 515 | 62 | 725 | 8 | 93.5 | 104

|
®

48
34

24

EFl:(mm)

10
132.5
114.5

11
143
125

12
153.5
135.5

13
164
146

14
174.5
156.5

15
185
167

19
221
209

20
237.5
219.5

195.5
177.5

206
188

216.5
198.5

DVP1000 H|0|2 Hi2F! Dimensions

L1 14

DS2000
DS6000

DX1
DX2

DX1R
DX2R

6-Rc(PT)1 8

[«

4-@4.5, THRU

[

15.4

R1
farY
S

23.5

/]

Y
o
&
5
5

TVH

16

54

=
|

45.4
51.5
54.4

62.9
15.5

14 - TFVM

DP300
DP3000
DP5000

DM

8.5

DT220

DQE

52.5
>

38.5
28.5

DCV

10.5

TX350

| 2 3 4 5 6 7 8 9
L1 | 385 | 49 | 595 | 70 112
L2 | 305 | 41 51.6 | 62 104

10
122.5
114.5

11
133
125

15
175
167

17
196
188

18
206.5
198.5

20
227.5
219.5

211

www. TPCpage.co.kr



212

DVP1000-3000-4000 Al2|=

DVP3000 =!Z HiZt3 Dimensions

Li

P=16 22 4-@4.5 . THRU 6-Re(PT) 1/4
(P,R1,R2 Port)
L I ﬂ
117 Betetete f/ A s
R Ca G G E d q°
. %) NSv)I\S%) \SY) J o il ran
< g o a | ¢ g N
| Lot |- I
@ ) 7 I h

 ——

Pd || ERd

56.1
38

26

DVP3000 Series Z!&EH|2F= Manifold ¢4 E121:(mm)

A 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 60 76 92 | 108 | 124 | 140 | 156 | 172 | 188 | 204 | 220 | 236 | 252 | 268 | 284 | 300 | 316 | 332 | 348
L2 40 56 72 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 | 328

DVP3000 H|0|A Hi2+&! Dimensions

P=16 18.5) 4-04.5 .THRU 16.7 6-Re(PT) 1/4

(P.R1,R2 Port)
- [
pe) 0e) 06 0@ || ° i EC;\)/F
2 ]l o a f ) |
g : 4 u ‘

71.8

a6

SONONO
JoNoNo) it

P=16 | 9 | 12

34

DVP3000 Series HI0|2AH|2+=Z Manifold 215~ E491:(mm)

A 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 | 525 | 68.5 | 84.5 [ 100.5 | 116.5| 132.5 | 148.5 | 164.5 | 180.5 | 196.5 | 212.5 | 228.5 | 244.5 | 260.5 | 276.5 | 292.5 | 308.5 | 324.5 | 340.5
L2 42 58 74 90 | 106 | 122 | 138 | 154 | 170 | 188 | 202 | 218 | 234 | 250 | 266 | 282 | 298 | 314 | 330




5ZE njziete ofo] 2mjzjole we DVP1000-3000-4000 Al2[=

DVP4000 =& HijZ+& Dimensions ™2
5] TV2WFI

P=19 24

4-04.5 THRU,

“ TV2WC

=} 16.5 6-Ro(PT)1/4

FSW

I
© 4:%% o ° DR100
) . DR200

195

86.2

79.4
21

922
106.2

RS1000
RS2000

RS4000
RS4R

il

13

= SIUNIT

RDV100
RDV300

RDV400
D | @ | =l | = — ——
Dvc1000
DV1000

DV3000
DV4000

DVUM1000
DVUM3000

DVP4000 Series Z!Z{Hl2k=2 Manifold 21 ZEHT) | DVUMA000
DVP1000

DVP3000
eix| 2 | 3] 45| 6| 7] 8] 91011 ]12][13]14]15]16][17]18] 19|20 |BVk3000

L1 66 85 104 | 123 | 142 | 161 | 180 | 199 | 218 | 237 | 256 | 275 | 294 | 313 | 332 | 351 | 370 | 389 | 408 RDS300

54
@f\

26

RDS3000
Lo | 46 | 65 | 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388 | RDS5000
RDSN3000
DVP4000 H|0 |2 Hi2FS] Dimensions 'DS2000
] DS6000
“ P=19 21 § DX1
- X2
AT o e - R 'DXIR
; vas DX2R
& @@E m@@ 5@5 9@5 =4+ j P
+ > B TVH
o © ] . ] TFVM
®* ® B B @M@,i
‘ J J DP300
I = DP3000
. = = DP5000
= . DM
Nu © - 77DT220
® s
o 1 1 N T DQE
{6666 e
{0 ©O17 v
TX350
x| 2 | 3| 4 | 5 | 6| 7 | 8] 9 |10 11 |12]13|14]15]| 16|17 |18 | 19 | 20
Lt | 61 | 80 | 99 | 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 | 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
Lo | 49 | 68 | 87 | 106 | 125 | 144 | 163 | 182 | 201 | 200 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391
213

www. TPCpage.co.kr



